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[Type text] 1      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

ehd;F (04) fl;lha tpdhf;fs; 
(20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 - Kfhik fzf;fPl;Lf;fhd mwpKfk; ,lu; kw;Wk; epr;rakw;w 
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

(a) 

tpw;gid tpiy = 820 

khWk; fpuak; (240 + 60 + 120) = (420) 

mynfhd;wpw;fhd gq;fspg;G = 400 

 

rkepiyg; Gs;sp (BEP) = epiyahd fpuak; 

  mynfhd;wpw;fhd gq;fspg;G 

 = 95,000 + (650,000 × 10%) 

  400 

 = 400 myFfs; 

       (03 Gs;spfs;) 
 (b) 

tpw;gid(450 × 820/-) = 369,000 

khWk; fpuak; (450 × 420/-) = (189,000) 

gq;fspg;G  180,000 

epiyahd fpuak; (95,000 + 65,000) = (160,000) 

,yhgk; = 20,000 

       (02 Gs;spfs;) 
       (nkhj;jk; 05 Gs;spfs;) 

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak;; 07 - njhopw;ghl;L %yjd Kfhikj;Jtk; 

  nra;Kiw 31 khu;r; 2023 ,y; cs;sthwhd 

njhf;F ,Ug;Gf; fhyk; 1 87 ehl;fs; 

fld;gl;Nlhu; Nrfupg;Gf; fhyk; 2 104 ehl;fs; 

  

 

191 ehl;fs; 

(-) fld; nfhLj;Njhu; nfhLg;gdTf; fhyk; 3 (71 ehl;fs;) 

njhopw;gL %yjdr; Rw;W ePsk;   120 ehl;fs; 

 
 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  III guPl;ir – [dtup 2023 

(302) Kfhik fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 

gFjp - A 
 



 

[Type text] 2      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nrad;Kiwfs; 

1) njhf;F ,Ug;Gf; fhyj;jpid fzpg;gpLjy; 
 

,Ug;G tjpTf;fhyk;   = ruhrup ,Ug;G x 365 ehl;fs; 

  tpw;gidf; fpuak;   

 = (4,532,930 + 3,752,000) /2 x 365 ehl;fs; 

  17,280,000   

 = 4,142,465 x 365 ehl;fs; 

  17,280,000   

 = 87 ehl;fs;   

     
tpw;gidf; fpuak; = 24,000,000 × 72%  = 17,280,000 

     
nfhs;tdT = tpw;gidf; fpuak; + ,Wjp ,Ug;G – Muk;g ,Ug;G 

 = 17,280,000 + 4,532,930 - 3,752,000 

 = 18,060,930   

2) fld;gl;Nlhu; tjpTf; fhyk;/ fld;gl;Nlhu; Nrfupg;Gf; fhyj;jpid fzpg;gPL 
nra;jy; 

tpahghuf; fld;gl;Nlhu; 
Gus;T tpfpjk; 

= 
tpw;gid 

  
ruhrupf; fld;gl;Nlhu; 

  
 

  

3.5 
= 

24,000,000 
 

 

 

ruhrupf; fld;gl;Nlhu;  

 
 

   

ruhrupf; fld;gl;Nlhu; = 6,857,143  

      
fld;gl;Nlhu; tjpTf; 

fhyk;/ fld;gl;Nlhu; 
Nrfupg;Gf; fhyk; 

= 
6,857,143 

× 365 ehl;fs; 
24,000,000 

 = 104 ehl;fs;   
 

3) fld; nfhLj;Njhu; nfhLg;gdTf; fhyj;ijf; fzpg;gPL nra;jy; 
 
fld; nfhLj;Njhu; 
nfhLg;gdTf; fhyk; 

= ruhrupf; fld;nfhLj;Njhu; x 365 ehl;fs; 

 nfhs;tdTfs;   

 = (4,868,200+2,185,827)/2 x 365 ehl;fs; 

  18,060,930   

 = 3,527,013.5 x 365 ehl;fs; 

  18,060,930   

 = 71 ehl;fs;   
(05 Gs;spfs;) 

 



 

[Type text] 3      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu;g;ghjPly; 

 

(a) 

  tpw;gidg; ghjPL 

  ghjPl;L myFfs; 3,120,000 × 60% 1,872,000 

ghjPl;L tpiy 500 × 88% 440 

ghjPl;L tpw;gid &. 

 

823,680,000 

 
nra;Kiwfs; 
 

2022 ,y; nkhj;j re;ij myFfs;  1,800,000/60 × 100 3,000,000 

2023 ,y; nkhj;j re;ij myFfs; 3,000,000 × 1.04 3,120,000 

ghjPl;L myFfs; 3,120,000 × 60% 1,872,000 

 
       (03 Gs;spfs;) 

 

(b) 

  cw;gj;jp ghjPL 

 

2023- myFfs; 

ghjplg;gl;l tpw;gid 

 

1,872,000 

(+) ,Wjp ,Ug;G 1,872,000/12 × 2 312,000 

(-) Muk;g ,Ug;G 

 

(150,000) 

ghjplg;gl;l cw;gj;jp 

 

2,034,000 

 
       (02 Gs;spfs;) 

 (nkhj;jk; 05 Gs;spfs;) 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 

[Type text] 4      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak; 01 - Kfhikf;fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w 
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 

 
cs;sf cw;gj;jpf; fpuak; 

  %yg;nghUs; fpuak; 

  Gjpa %yg;nghUs; 420,000 - 130,000 290,000 

gioa %yg;nghUSf;fhd 

re;ju;g;gr;nryT 

 

45,000 

$ypf; fpuak; 

  rhjhuz $yp 80kzp×&.300×1.5 36,000 

tpNrl Copau; 

 

250,000 

   khWk; Nke;jiyfs;  80kzp×&.110 8,800 

cs;sf cw;gj;jpf; fpuak; 

 

629,800 

   ntspaf nfhs;tdTr; nryT 

 

700,000 

cs;sf cw;gj;jpf; fpuakhdJ ntspaf nfhs;tdTf; fpuaj;ij tpl Fiwthff; 
fhzg;gLtjhy; mr;rpid cs;sf uPjpahf cw;gj;jp nra;tjw;F gupe;Jiu 
nra;ag;gLfpwJ.  

 (05 Gs;spfs;) 
 

 

 
  

gFjp A KbT 
 



 

[Type text] 5      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 

 

tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 01 - Kfhikf;fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w 
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak ; 

(a) 
Neu; %yg;nghUs;  

   
cw;gj;jp Nfs;tp 

Ne.%yg;nghUs; 

(M) 
nkhj;j %yg;nghUs; 

Njit 

6-,Uf;iffs; 30 2.50 75 

  

(1,125/450) 

 8-,Uf;iffs; 15 4.00 60 

  

(1,800/450) 

 12-,Uf;iffs; 8 6.00 48 

  

(2,700/450) 

 nkhj;j Njit – kPw;wu;fs; 
  

183 

Neu; %yg;nghUs; fpilg;gdT M 

  

190 

Nkyjpfk; 
  

(7) 

 

ijay; $yp 
   

cw;gj;jp Nfs;tp 
ijay; $yp 

(kzp) 
nkhj;j Njitahd 
kzpj;jpahyq;fs; 

6-,Uf;iffs; 30 1 30 

  

(300/300) 

 8-,Uf;iffs; 15 1.25 18.75 

  

(375/300) 

 12-,Uf;iffs; 8 1.5 12 

  

(450/300) 

 nkhj;j Njitahd 
kzpj;jpahyq;fs; 

  

60.75 
ijay; Copa kzp. 
fpilg;gdT 

  

100 

Nkyjpfk; 
  

(39.25) 

 
G+ Ntiyg;ghl;L $yp 

   

cw;gj;jp Nfs;tp 
G+ Ntiyg;ghl;L 

$yp (kzp.) 
nkhj;j Njitahd 
kzpj;jpahyq;fs; 

6-,Uf;iffs; 30 5 150 

  

(2,500/500) 

 8-,Uf;iffs; 15 8 120 

  

(4,000/500) 

 12-,Uf;iffs; 8 12 96 

  

(6,000/500) 

 

gFjp - B 



 

[Type text] 6      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

nkhj;j Njitahd 
kzpj;jpahyq;fs; 

  

366 
G+ Ntiyg;ghl;L 
$ypkzpj;jpahy fpilg;gdT 

  

302 

jl;Lg;ghL 
  

64 

G+ Ntiyg;ghl;L $ypahdJ tiuaWf;fg;gl;l fhuzpahf ,dq;fhzg;gl;Ls;sJ.  
   (04 Gs;spfs;) 

 
(b)  

 

6-,Uf;iffs; 8-,Uf;iffs; 12-,Uf;iffs; 

tpw;gid tpiy 5,000 7,500 12,000 

(-) khWk; fpuak; 

   %yg;nghUs; AB 1,125 1,800 2,700 

ijay; $yp 300 375 450 

G+Ntiyf; $yp 2,500 4,000 6,000 

khWk; Nke;jiyfs; 500 600 800 

nkhj;j khWk; fpuak; (4,425) (6,775) (9,950) 

gq;fspg;G 575 725 2,050 

G+Ntiyf; $yp kzp 5 8 12 

gq;fspg;G - G+Ntiyf; $yp kzp 115.00 90.63 170.83 

epiy 2 3 1 

    

cw;gj;jp cw;gj;jp jpl;lk; 
G+Ntiyf; $yp 

kzp 
nkhj;j Njitahd 

kzp 

12-,Uf;iffs; 8 12 96 

6-,Uf;iffs; 30 5 150 

8-,Uf;iffs; 7 8 56 

   

302 

 
   (06 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 

[Type text] 7      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 03 - NtWgl;l tifahd ghjPLfs; kw;Wk; jpl;lkply; kw;Wk; 
fl;Lg;gLj;jy; vjpu;g; ghjPly; 

 

fhRg;ghjPL ngg;utup-23 khu;r;-23 Vg;uy;-23 

ngWtdTfs; 
   fhR tpw;gid -W1 10,000,000 17,600,000 22,000,000 

fld;gl;Nlhu; tUkjpfs; - W1 165,600,000 90,000,000 110,520,000 

tl;b tUkhdk; @ 8% 8,000 85,387 - 

nkhj;j ngWtdTfs; 175,608,000 107,685,387 132,520,000 

    nfhLg;gdTfs; 
   %yg;nghUSf;fhd nfhLg;gdT X - 

W2 154,000,000 132,000,000 44,000,000 
nghjpapLk; nghUl;fSf;fhd 

nfhLg;gdT W2 **   8,500,000 13,600,000 17,000,000 

nghjpapLtjw;fhd $ypf;fpuak; - W3 

** 1,500,000 2,400,000 3,000,000 

epu;thfr; nryTfs; - W4 800,000 800,000 800,000 

nkhj;j nfhLg;gdTfs; 164,800,000 148,800,000 64,800,000 

Njwpa fhRg;gha;r;ry;fs; 10,808,000 (41,114,613) 67,720,000 

khj njhlf;fj;jpYs;s kPjp 1,200,000 12,008,000 (29,106,613) 

khj ,WjpapYs;s kPjp 12,008,000 (29,106,613) 38,613,387 

** nghjpnra;Ak; nghUl;fs; kw;Wk; nghjpnra;jy; $yp vd;gtw;Wf;fhd nfhLg;gdT 
tpw;gid nra;ag;gl;l nghjpfspd; vz;zpf;if mbg;gilapy; nfhLf;fg;gl;Ls;sJ.  

W1 – fhR tpw;gid kw;Wk; 
fld;gl;NlhuplkpUe;jhd 
ngWtdT bnrk;gu;-22 rdtup-23 ngg;utup-23 khu;r;-23 Vg;uy;-23 

Tpw;gid myF 110,000 50,000 50,000 80,000 100,000 

Tpw;gid tpiy &. 2,000 2,000 2,000 2,200 2,200 

nkhj;j tpw;gid  220,000,000 100,000,000 100,000,000 176,000,000 220,000,000 

fhR tpw;gid - @ 10% 22,000,000 10,000,000 10,000,000 17,600,000 22,000,000 

fld; tpw;gid @ 90% 198,000,000 90,000,000 90,000,000 158,400,000 198,000,000 

fld;tpw;gid ngWtdT 30 

ehl;fs;@ 30% 

 

59,400,000 27,000,000 27,000,000 47,520,000 

fld;tpw;gid ngWtdT 60 

ehl;fs;@ 70% 

  

138,600,000 63,000,000 63,000,000 

nkhj;j ngWtdT - 59,400,000 165,600,000 90,000,000 110,520,000 

 
 
 



 

[Type text] 8      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

W2 - %yg;nghUSf;fhd 
nfhLg;gdT etk;gu;-22 bnrk;gu;-22 rdtup-23 ngg;utup-23 khu;r;-23 Vg;uy;-23 

nfhs;tdT myFfs; 140,000 120,000 40,000 75,000 70,000 50,000 

nfhs;tdT tpiy &. 1,100 1,100 1,100 1,100 1,188 1,283 

%yg;nghUs; X 154,000,000 132,000,000 44,000,000 82,500,000 83,160,000 64,152,000 

%yg;nghUs; X 
nfhLg;gdT 

   

154,000,000 132,000,000 44,000,000 

nghjpaplYf;fhd 
nfhLg;gdT 

*nghjpaply; 

%yg;nghUs; @ &.170    8,500,000 13,600,000 17,000,000 

    (170x50,000) (170x80,000) (170x100) 

 
* nghjpnra;jy; %yg;nghUSf;fhd nfhLg;gdT tpw;gid nra;ag;gl;l nghjpfspd; 
vz;zpf;if mbg;gilapy; nfhLf;fg;gl;Ls;sJ.  

 

W3 – nghjpnra;jy; $ypf; fpuak; ngg;utup-23 khu;r;-23 Vg;uy;-23 

*$ypf; fpuak; @ &.30 per fp.fp. 1,500,000 2,400,000 3,000,000 

 (30x50,000) (30x80,000) (30x100,000) 

 
* nghjpnra;jy; $ypf;fhd nfhLg;gdT tpw;gid nra;ag;gl;l nghjpfspd; vz;zpf;if 
mbg;gilapy; nfhLf;fg;gl;Ls;sJ.  

 

W4 – epu;thfr; nryTfs; rdtup-23 ngg;utup -23 khu;r; 23 Vg;uy;-23 

epu;thfr; nryT 800,000 800,000 800,000 800,000 

fhRf; nfhLg;gdT @ 40% 320,000 320,000 320,000 320,000 

fld; nfhLg;gdT @ 60% 

30ehl;fs; 

 

480,000 480,000 480,000 

nkhj;j nfhLg;gdT 320,000 800,000 800,000 800,000 

 
 (10 Gs;spfs;) 

tpdh 07 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 05 - %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 
 

(a) Ke = D0   
× 100 

   

P0 

 

Ke = 0.8 
× 100 

   

3.2 

 

Ke = 25% 

    (02 Gs;spfs;) 
 
 
 
 
 



 

[Type text] 9      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(b) Kp = D0 
× 100 

   

P0 

 

Kp = 1.8 
× 100 

   

8 

 

Kp = 22.50% 

  
   (02 Gs;spfs;) 

(c) KjyPl;lhsu;fspd; fUj;jpypUe;J 
 

tUlk; fhRg;gha;r;ry; 

fopTf; 

fhuzp @ 

10% 
epfo;fhyg; 
ngWkjp 

fopTf; 

fhuzp @ 

15% 
epfo;fhyg; 
ngWkjp 

0 (85.00) 1.000 (85.00) 1.000 (85.00) 

1-5 9.12 3.791 34.57 3.352 30.57 

 

100*12%*76% 

   5 100.00 0.621 62.09 0.497 49.72 

  

NPV 11.66 

 

(4.71) 

 

IRR = A + 
NPVa 

NPVa -  NPVb 

    
 

 
 

 

= 10% + 11.66 

 
   

11.66 - (4.71) 

 
   

   

 

= 0.10 + 0.7123 x 0.05 

 
      

 

= 13.56% 

           (03 Gs;spfs;) 
 

(d) 
 

%yq;fs; 
re;ijg; ngWkjp 

&. kpy;ypad; 
epiw COC % WACC 

rhjhuz gq;Ffs; 320.00 49% 25 % 12.25% 

Kd;Dupikg; gq;Ffs; 200.00 31% 22.5% 6.975% 

jdpr;rq;fs; 127.50 20%  13.56% 2.712% 

 

647.50  

 

21.937% 

 

 (03 Gs;spfs;) 
 (nkhj;jk; 10 Gs;spfs;) 

 

 
 
 
 

gFjp B KbT 
 



 

[Type text] 10      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 
 

 

tpdh 08 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 04 - epakf; fpuatpay; kw;Wk; Kuz; gFg;gha;T 
(a) 
(i)  
 

Neu;f; $yp 

tPj Kuz;  = 

epak 

tPjk; - cz;ik tPjk; × 

nrYj;jpa cz;ik 

kzpj;jpahyq;fs; 

   jpwikahd = 300 - 320 × 624,000 = 12,480,000 gh 

    

(199,680/624) 

     jpwikaw;w = 180 - 165 × 168,000 = 2,520,000 rh 

    

(27,720/168) 

     

        

9,960,000 gh 

(02 Gs;spfs;) 
 (ii)  
Neu; $yp fyit Kuz; 

    
$yp 

cz;ik kzp * 
cz;ik fyit 

cz;ik kzp * 
epak fyit 

NtWghL 
kzp. 

epak 
tPjk; 

fyit 
Kuz; 

 jpwikahd 624,000 633,600 9,600rh 300 2,880,000 rh 

  

(792,000/2.5×2) 

    jpwikaw;w 168,000 158,400 9,600gh 180 1,728,000 gh 

  

(792,000/2.5×0.5) 

    

 

792,000 792,000 - 

 

1,152,000 rh 

(03 Gs;spfs;) 
 (iii)  
Neu; $yp tpisT Kuz; 

    
$yp 

epak kzp* epak 
fyit 

cz;ik kzp * 
cz;ik fyit 

NtWghL 
kzp. 

epak 
tPjk; 

tpisT 
Kuz; 

 jpwikahd 640,000 633,600 6,400rh 300 1,920,000 rh 

 

320,000×2 

     jpwikaw;w 160,000 158,400 1,600rh 180 288,000 rh 

 

320,000×0.5 

     

 

800,000 792,000 8,000rh 

 

2,208,000 rh 

(03 Gs;spfs;) 

 

 

 

gFjp - C 
 



 

[Type text] 11      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 (iv)  

tpw;gid tpiy Kuz; = cz;ik tpw;gid (cz;ik tpiy - epaktpiy)  

 = 320,000  (
480,000

320
− 1,550) 

 = 320,000 (1,500 - 1,550) 

 =  16,000 gh  
(02 Gs;spfs;) 

(b)  
nraw;ghl;L $w;W – vy;iyf;fpuak;    

ghjPl;L gq;fspg;G 300,000×235 

  

70,500,000 

tpw;gid gq;fspg;G myF Kuz; 
  

4,700,000 

cz;ik tpw;gidf;fhd 
ghjPl;L gq;fspg;G 320,000×235 

  

75,200,000 

     rPuhf;fg;gl$ba Kuz;fs; 
 

gh  rh 
 Neu;g;nghUs; tpiy Kuz; 2,304,000 - 

 Neu;g;nghUs; gad;ghl;L Kuz; 5,760,000 - 

 Neu;f; $yp tPj Kuz; 
 

9,960,000 - 

 Neu;f; $yp fyit Kuz; 
  

1,152,000 

 Neu;f; $yp tpisT Kuz; 
 

- 2,208,000 

 khWk; Nke;jiyr; nryT Kuz; 3,564,000 - 

 khWk; Nke;jiy tpidj;jpwd; Kuz; - 560,000 

 tpw;gid tpiy Kuz; 16,000,000 - 

 

  

37,588,000 

            

3,920,000  

              

(33,668,000) 

cz;ik gq;fspg;G 
   

41,532,000 

 
(05 Gs;spfs;) 

(nkhj;jk; 15 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 

[Type text] 12      (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 09 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 06 - %yjd KjyPl;L kjpg;gPL 
(a) 

&. kpy;ypad; 

 

K
j
y
PL
 

n
j
ho
pw
;g
L
 

%
y
j
d
k
; 

n
k
hj
;j
 

,
y
hg
k
; 

t
hl
i
f
 

t
pw
;g
i
d
j
; 

j
uF

 4
%

 

e
pi
y
a
hd

 
f
pu
a
k
; 

t
U
k
hd

 
t
up
 

f
hR
g
; 

g
ha
;r
;r
y
; 

C
O

C
 @

 2
2

%
 

e
pf
o
;f
hy

 
n
g
W
k
j
p 

M0 (83.00) (20.00) 

 

- 

 

- - (103.00) 1.000 (103.00) 

M1 - 

 

37.50 (9.00) 

 

(5.00) (1.14) 22.36 0.820 18.33 

M2 - 

 

44.80 (12.96) 

 

(5.5) (1.82) 24.52 0.672 16.48 

M3 - 

 

70.40 (13.997) (14.08) (6.05) (4.21) 32.06 0.551 17.67 

M4 - 

 

97.50 (15.12) (15.60) (6.665) (9.93) 50.19 0.451 22.64 

M5 10.00 20.00 123.2 (16.33) (17.60) (7.320) (22.07) 89.88 0.369 33.17 

         

 NPV  5.29 

nra;Kiwfs; 

W1 – nkhj;j ,yhgk; / gq;fspg;G 

 

 M1  M 2 M 3 M 4 M 5 

tpw;gid 250.00 280.00 352.00 390.00 440.00 

nkhj;jyhg vy;iy 15% 16% 20% 25% 28% 

nkhj;j ,yhgk; 37.50 44.80 70.40 97.50 123.20 

 

W2 - thlif 

 

 M 1  M 2 M 3 M 4 M 5 

tUlhe;j thlif 12 12.96 13.997 15.12 16.33 

fopT @25% (3.00) 

    

 

9.00 12.96 13.997 15.12 16.33 

W3 – epiyahd fpuak; 
  M 1  M 2 M 3 M 4 M 5 

tUlhe;j thlif 30.00 

    (-) Nja;khdk; -  (75-10)/5 (13.00) 

    thlif (12.00) 

    Nja;khdk; kw;Wk; thlif 
jtpu;e;j Vida epiyahd 
Nke;jiyfs; 5.00 5.00 5.00 5.00 5.00 

gztPf;fk; @ 10%                                           5.00 5.5 6.05 6.655 7.320 
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W4 – tUkhd tup 

 

 M 1  M 2 M 3 M 4 M 5 
Nja;khdj;jpw;F Kd; 
,yhgk; 23.500 26.340 36.273 60.128 81.954 

%yjdf; nfhLg;gdT (18.750) (18.750) (18.750) (18.750) - 

tpw;gid ngWtdT (W2) - - - - 1.000 

 4.750 7.590 17.523 41.378 91.954 

tup @24% 1.14 1.82 4.21 9.93 22.07 

 
(13 Gs;spfs;) 

 (b)  
,r;nraw;jpl;lkhdJ &.5.29 kpy;ypad; rhjfkhd Njwpa epfo;fhy ngWkjpapid 

nfhz;bUg;gjhy; ,r; nraw;jpl;lj;ij Vw;Wf;nfhs;Sk; gb gupe;Jiu nra;ag;gLfpwJ.  

(02 Gs;spfs;) 
 (nkhj;jk; 15 Gs;spfs;) 

tpdh 10 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
      (A) 

mj;jpahak; 02 - nra;Kiwf; fpuatpay; kw;Wk; vz;fzpj fpuatpay; 

rkg;ghl;L myFfspd; $w;W 

 
nkhj;j 
myFfs; 

M 

Neu; nghUs;  Neu;f; $yp Nke;jiyfs; 

 

g+u;j;jpahd 
msT 

rkg;ghl;L 
myFfs; 

g+u;j;jpahd 
msT 

rkg;ghl;L 
myFfs; 

g+u;j;jpahd 
msT 

rkg;ghl;L 
myFfs; 

Muk;g ,Ug;G – 
ntspaPLfs; 25,000 100% 25,000 100% 25,000 100% 25,000 
cld; 
ntspaPLfs; 263,000 100% 263,000 100% 263,000 100% 263,000 

cs;sPl;by; 5% 
rhjhuz el;lk;  15,000 - - 

 

- 

  mrhjhuz 
el;lk; (10,000) 100% (10,000) 100% (10,000) 100% (10,000) 
,Wjp 
Gj;JUthFk; 
Ntiy 32,000 100% 32,000 50% 16,000 45% 14,400 

rkg;ghl;L 
myFfs; 325,000 

 

310,000 

 

294,000 

 

292,400 

 
myFf; fpuaf; fzpg;gPL Ne. nghUs; Ne. $yp Nke;jiyfs;  nkhj;jk; 

Muk;g ,Ug;G 3,750,000 534,000 199,000 4,483,000 

cs;sPl;L fpuak; 42,575,000 27,690,000 16,614,000 86,879,000 
Nrj myFfs; tpw;gid 

@40/- (600,000) - - (600,000) 

Njwpa cs;sPl;L fpuak; 45,725,000 28,224,000 16,813,000 90,762,000 
vjpu;ghu;f;fg;gl;l rkg;ghl;L 
myFfs; 310,000 294,000 292,400 

 cw;gj;jp nra;ag;gl;l 
myFfspd; fpuak; 147.50 96.00 57.50 301.00 
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01MtJ nraw;ghl;L fzf;F 

tpguk; myFfs; ngWkjp tpguk; myFfs; ngWkjp 
Muk;g Gj;JUthFk; 
Ntiy 25,000 4,483,000 

nraw;ghL 2 ,w;F 
khw;wg;gl;lJ 288,000 86,688,000 

Neu;g;nghUs; - P I 300,000 42,575,000 rhjhuz el;lk; 15,000 600,000 

Neu;f; $yp - 27,690,000   

  khWk; cw;gj;jp 
Nke;jiyfs; - 16,614,000 

Gj;JUthFk; 
Ntiy nfh / nr 32,000 7,084,000 

mrhjhuz ,yhgk; 10,000 3,010,000   

    335,000 94,372,000   335,000 94,372,000 

Gj;JUthFk; Ntiy  
nfh / t 32,000 7,084,000       

      

nra;Kiwfs; 

kjpg;gPl;Lf; 
$w;W 

 Neu; nghUs;   Neu;f; $yp Nke;jiyfs; nkhj;jk; 
rk 

myF fpuak; nkhj;jk; 
rk 

myF fpuak; nkhj;jk; 
rk 

myF fpuak; nkhj;jk;  
ntspaPL 288,000 147.50 42,480,000 288,000 96 27,648,000 288,000 58 16,560,000 86,688,000 

mrhjhuz 

el;lk; (10,000) 147.50 (1,475,000) (10,000) 96 (960,000) (10,000) 58 (575,000) (3,010,000) 

,Wjp 

Gj;JUthFk; 

Ntiy 32,000 147.50 4,720,000 16,000 96 1,536,000 14,400 58 828,000 7,084,000 

 
(14 Gs;spfs;) 

 (B) 

mj;jpahak; 01 - Kfhikf; fzf;fPl;Lf;fhd mwpKfk;> ,lu; kw;Wk; epr;rakw;w 
epiyapyhd jPu;khdk; Nkw;nfhs;sy; kw;Wk; njhlu;Ggl;l fpuak; 

 (a) 

 

tpw;gid 

tpiy 

khWk; 

fpuak; 

myFf;fhd 

gq;fspg;G 

tpw;gid 

myF 
nkhj;j gq;fspg;G 

$baJ 300 (210) 90 100,000 9,000,000 

Fiwe;jJ 300 (230) 70 60,000 4,200,000 
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nraw;ghl;L 
tUkhdk; 

epfo;jfT 

nraw;ghl;L 
tUkhdk; 

vjpu;ghu;f;fg;gl;l 
ngWkjp 

njupT 1 $ba 

tpw;gid 9,000,000 - 600,000 8,400,000 0.55 
6,240,000 

Fiwe;j 

tpw;gid 4,200,000 - 600,000 3,600,000 0.45 

njupT 2 $ba 

tpw;gid 
9,000,000 - 280,000 - 

(300×100,000×1.2%) 8,360,000 0.55 
6,264,800 

Fiwe;j 

tpw;gid 
4,200,000 - 280,000 - 

(300×60,000×1.2% 3,704,000 0.45 

njupT 3 $ba 

tpw;gid 9,000,000 - (300×100,000×2.3%) 8,310,000 0.55 
6,274,200 

Fiwe;j 
tpw;gid 4,200,000 - (300×60,000×2.3%) 3,786,000 0.45 

(05 Gs;spfs;) 
 (b)                                                                                                                                              

 
mjpf vjpu;ghu;f;fg;gl;l gq;fspg;gpid toq;Ftjhy; njupT 3 gupe;Jiuf;fg;gLfpd;wJ. 

 (01 Gs;sp) 

(nkhj;jk;  20 Gs;spfs;) 

 

  

gFjp C KbT 
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Notice:  

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 
fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their 

understanding as well as stay relevant in the art of answering questions at examination level.  
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